STAT 1601  QUIZ #2                  

NAME:                                                 Student ID:                                                                                                                            
Problem 1. Each of 10 children in the third grade was given a reading aptitude test. The score were as follows: 
                           83, 79, 92, 81, 95, 62, 87, 96, 97, 72.
(a) What is the first quartile Q1? (1 pts)
62, 72, 79, 81, 83, 87, 92, 95, 96, 97
62, 72, 79, 81, 83
Since n1 =5, 

                Q1=(5+1)/2 th data in the list 

                    =3th data in the list = 79 .

 (b) What is the third quartile Q3? (1 pts)
62, 72, 79, 81, 83, 87, 92, 95, 96, 97
87, 92, 95, 96, 97
Since n2 =5, 

                  Q3=(5+1)/2 th=3th data in the list 

                    =3th data in the list = 95 .

 (c) What is IQR(Interquartile Range) of this problem? (1 pts)

IQR = Q3 – Q1 = 95 – 79 = 16
 (d) Check the above data set for outliers. (1 pts) Hint. Use IQR.
No outliers 

Lower bound = Q1  – 1.5 * IQR = 79 – 1.5*16 =  79 – 24 = 55
Upper bound = Q3 + 1.5 * IQR = 95 + 1.5*16 =  95 + 24 = 119
62, 72, 79, 81, 83, 87, 92, 95, 96, 97 fall in this bound. 

Problem 2. Bigger animals tend to carry their young longer before birth. The length of horse pregnancies from conception to birth varies according to a roughly normal distribution with mean 336 days and standard deviations 3 days. Use 68-95-99.7 rule.

(a) 95 % of horse pregnancies fall in what range of lengths?(1 pts)

Ninety-five percent of all observations fall between
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                            (330, 342) days
(b) What percent of horse pregnancies are longer than 339 days? (1 pts)

Sixty-eight percent of all observations fall between
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Thus, the answer is 16%.

Problem 3. If the length of time it takes you to walk from your residence to campus approximately followed a normal distribution with mean 14 minutes and standard deviation 1.5 minutes then what is the proportion that you could walk from your residence to campus in less than 11 minutes? (Sketch a standard normal curve with your value of z marked on the axis and then shade the area under the curve that is the answer to the question ). (1 pts)
X= the length of time to walk from your residence to campus.
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the Z-Score transform is given by, 
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P(Z<-2.0) = P(Z>2.0) = 0.5- P(0 
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                =0.5 - 0.4772 = 0.0228 

Problem 4. Choose an acre of land in Canada at random. The probability is 0.25 that it is forest and 0.05 that it is pasture.
(a) What is the probability that the acre chosen is not forested? (1 pts)      P(not forest)=1-P(forest)=1-0.25=0.75.

(b) What is the probability that it is either forest or pasture? (1 pts)

    P(forest or pasture) = P(forest)+P(pasture) = 0.25+0.05=0.30.

(c) What is the probability that a randomly chosen acre in Canada is something other than forest or pasture? (1 pts)

 P(something other than forest or pasture) 

                 =1-P(forest or pasture)=1-0.30=0.70.
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